

City of Tulsa Purchasing Department 175 E. 2nd Street 15th Floor Tulsa, OK 74103

IFB 26-814 **AED Equipment**

Parks, Culture, and Recreation Department Bid Opening Date: October 16, 2025

Project Buyer: Julie Miller jamiller@cityoftulsa.org

Please contact if you have any questions.

Delivery:

If Your Bid is Accepted, state the number of Days You need to deliver the Supplies and/or begin providing Services.

You must be able to deliver the Supplies and/or Services as specified in Your Bid. Failure to do so may result in City terminating the Agreement and pursuing collection under any performance bond, as well as seeking any other damages to which it may be entitled in law or in equity

Pricing:

Fricing.									
				Utech Products I	nc	N.A	NAR Medical Depot LLC		
ITEM	Description	Est. Annual QTY	Unit Cost	Extended Cost	Mfr & Model #	Unit Cost	Extended Cost	Mfr & Model #	
1	DEFIBRILLATOR, Golden Max 99512- 001434 or Acceptable Equivalent	17	\$1,275.68	\$21,686.56	Golden Max, P/N 99512-001434	\$1,275.00	\$21,675.00	PHYSIO- CONTROL 99512- 001434	
2	AED Trainer, Golden Max 11250-000147 or Acceptable Equivalent	2	\$845.32	\$1,690.64	Golden Max, P/N 11250-000147	\$812.00	\$1,624.00	PHYSIO-CONTROL 11250-000147	
3	Shipping	1	\$6.84	\$129.96		\$0.00	\$0.00		
	TO EXCEED: (All costs rid will be disqualified)	must be	\$23,507.16			\$23,299.00			
		Delivery:	8 Weeks			30 Days			
	Annual Price Adjustment:			0%			3%		
		Notes:	: N/A			N/A			

The City does not guarantee any specific quantity or number of purchases, if any, that will be made during the agreement period.

			AE	ED One-Stop Sho	o LLC	Т	TLF Nexus Group LLC		
ITEM	Description	Est. Annual QTY	Unit Cost	Extended Cost	Mfr & Model #	Unit Cost	Extended Cost	Mfr & Model #	
1	DEFIBRILLATOR, Golden Max 99512- 001434 or Acceptable Equivalent	17	\$1,039.47	\$17,670.99	Stryker - LIFEPAK CR2 AED Fully- Auto, USB, English, handle, p/n 99512- 001434	\$1,244.73	\$21,160.41	Physio-Control (Stryker) LIFEPAK CR2 Fully- Automatic AED Part Number: 99512- 001434	
2	AED Trainer, Golden Max 11250-000147 or Acceptable Equivalent	2	\$722.48	\$1,444.96	Stryker - LIFEPAK CR2 Trainer, p/n 11250-000147	\$833.13	\$1,666.26	Physio-Control LIFEPAK CR2 Demo Unit / Trainer (Non-Shocking) Part Number: 11250- 000162	
3	Shipping	1	\$0.00	\$184.13		\$100.00	\$100.00		
	O EXCEED: (All costs not will be disqualified)	nust be	\$19,300.08			\$22,926.67			
		Delivery:	10 \	Weeks form order pla	cement		30 Days ARO		
	Annual Price Adjustment:			0%			0%		
		Notes:		N/A		N/A			

			Retrac Inc dba Think Safe Inc			General Medical Devinces Inc			
ITEM	Description	Est. Annual QTY	Unit Cost	Extended Cost	Mfr & Model #	Unit Cost	Extended Cost	Mfr & Model #	
1	DEFIBRILLATOR, Golden Max 99512- 001434 or Acceptable Equivalent	17	\$1,190.00	\$20,230.00	Stryker, LIFEPAK CR2 USB Model AED, fully automatic; Stryker Item Nbr 99512- 001434	\$933.50	\$15,869.50	LPCR2 / Lifepak CR2, Full-Auto English w/ Handle Item number: 99512- 00143	
2	AED Trainer, Golden Max 11250-000147 or Acceptable Equivalent	2	\$750.00	\$1,500.00	Stryker, LIFEPAK CR2 Trainer; Stryker Item Nbr 11250-000162	\$785.89	\$1,571.78	LPCR2 Trainer / Lifepak CR2 Trainer Item number: 11250- 000162	
3	Shipping	1	\$250.00	\$250.00		\$0.00	\$0.00		
	TO EXCEED: (All costs noid will be disqualified)	nust be		\$21,980.00			\$17,441.28		
	Delivery:			60 Days		7-14 Business Days			
	Annual Price Adjustment:			3%			3%		
The Oite days a		Notes:				N/A			

The City does not guarantee any specific quantity or number of purchases, if any, that will be made during the agreement period.

				SafetyMed LLC		North Am	North American Fire Equipm		
ITEM	Description	Est. Annual QTY	Unit Cost	Extended Cost	Mfr & Model #	Unit Cost	Extended Cost	Mfr & Model #	
1	DEFIBRILLATOR, Golden Max 99512- 001434 or Acceptable Equivalent	17	\$1,187.23	\$20,182.91	LIFEPKA CR2 USB FULLY-AUTO, part #: 99512-001434	\$2,095.00	\$35,615.00	Physio-Control Lifepak LPCR2 Part # 099512- 001268	
2	AED Trainer, Golden Max 11250-000147 or Acceptable Equivalent	2	\$749.00	\$1,498.00	LIFEPAK CR2 TRAINER Device, part #: 11250- 000162	\$810.00	\$1,620.00	Part # 11250- 000147	
3	Shipping	1	\$0.00	\$0.00		\$0.00	\$0.00		
	T TO EXCEED: (All costs model)	nust be	\$21,680.91			\$37,235.00			
	Delivery:			1-2 weeks lead time			6 weeks after receipt of order		
	Annual Price Adjustment:			0%			5%		
		Notes:	N/A			N/A			

			AED Everywhere Inc-Bid Option 1			AED Everywhere Inc-Bid Option 2		
ITEM	Description	Est. Annual QTY	Unit Cost	Extended Cost	Mfr & Model #	Unit Cost	Extended Cost	Mfr & Model #
1	DEFIBRILLATOR, Golden Max 99512- 001434 or Acceptable Equivalent	17	\$1,350.00	\$22,950.00	Stryker CR2 – p/n 99512-001435	\$1,461.00	\$24,837.00	ZOLL AED Plus – p/n 8000-004007-01
2	AED Trainer, Golden Max 11250-000147 or Acceptable Equivalent	2	\$750.00	\$1,500.00	Stryker CR2 Trainer – p/n 11250-00162	\$750.00	\$1,500.00	ZOLL AED Plus Trainer – p/n 8008- 000052-01
3	Shipping	1	\$120.00	\$120.00		\$150.00	\$150.00	
	TO EXCEED: (All costs noid will be disqualified)	nust be	\$24,570.00			\$26,487.00		
	Delivery:			14 Days or less			7 Days or less	
	Annual Price Adjustment:		0%			10%		
		Notes:	:			*National contract such as NASPO also available to produce off of		

The City does not guarantee any specific quantity or number of purchases, if any, that will be made during the agreement period.

			G	o Rescue Brands	LLC	Rescue One Training for Life Inc			
ITEM	Description	Est. Annual QTY	Unit Cost	Extended Cost	Mfr & Model #	Unit Cost	Extended Cost	Mfr & Model #	
1	DEFIBRILLATOR, Golden Max 99512- 001434 or Acceptable Equivalent	17	\$1,028.00	\$17,476.00		\$1,035.00	\$17,595.00	Stryker CR2, part #99512-001434	
2	AED Trainer, Golden Max 11250-000147 or Acceptable Equivalent	2	\$669.00	\$1,338.00		\$747.65	\$1,495.30	Stryker CR2 AED trainer, part #11250- 000162	
3	Shipping	1	\$175.00	\$175.00		\$0.00	\$0.00		
TOTAL COST NOT T included or your bid	O EXCEED: (All costs r will be disqualified)	nust be	\$18,989.00			\$19,090.30			
	Delivery:			5 Buisness Days			30 Days		
	Annual Price Adjustment:			0%			4%		
		Notes:	N/A			*We do have the 99512-001435s in stock and can ship them immediately			

The City does not guarantee any specific quantity or number of purchases, if any, that will be made during the agreement period.

			Silver	State Medical Supply LLC		School Health Corporation		
ITEM	Description	Est. Annual QTY	Unit Cost	Extended Cost	Mfr & Model #	Unit Cost	Extended Cost	Mfr & Model #
1	DEFIBRILLATOR, Golden Max 99512- 001434 or Acceptable Equivalent	17	\$1,263.85	\$21,485.45	Stryker Lifepak CR2 Fully Automatic AED (USB, English, Child Mode, Handle, 8 yr Warranty) 99512-001434	\$1,052.41	\$17,890.97	1048226 – manufacturer item 99512-001434
2	AED Trainer, Golden Max 11250-000147 or Acceptable Equivalent	2	\$819.47	\$1,638.94	Stryker Lifepak CR2 AED Training Device 11250- 000162	\$791.33	\$1,582.66	1034011 – manufacturer item 11250-000147
3	Shipping	1	\$0.00	\$0.00		\$0.00	\$0.00	
	OTAL COST NOT TO EXCEED: (All costs must be not		\$23,124.39			\$19,473.63		
	Delivery:		V			**Please see note below		
	Annual	Price Adjustment:	0%			3%		
		Notes:	N/A			Item 104826 is on extended back-order, per manufacturer. We can offer item #1034030 LIFEPAK CR2 Full-Auto Defibrillator Package w/handle,		

			Crawf	ord Electric Supp	ly Co LLC		AED123 LLC		
ITEM	Description	Est. Annual QTY	Unit Cost	Extended Cost	Mfr & Model #	Unit Cost	Extended Cost	Mfr & Model #	
1	DEFIBRILLATOR, Golden Max 99512- 001434 or Acceptable Equivalent	17	\$1,336.00	\$22,712.00	AED Model #99512- 001434 (Stryker 99512- 001434 wExtra LPCR2 USB Fully Automatic, English, Handle, CPR prep kit, inspection tag & decal	\$970.00	\$16,490.00	LIFEPAK CR2 AED 99512-001434	
2	AED Trainer, Golden Max 11250-000147 or Acceptable Equivalent	2	\$853.00	\$1,706.00	AED Trainer Model # 11250-000147 (Stryker 11250-000147 KIT, SHIPPING, DEMO, LPCR2, ENGLISH)	\$892.00	\$1,784.00		
3	Shipping	1	\$400.00	\$400.00		\$0.00	\$0.00		
	TO EXCEED: (All costs nid will be disqualified)	nust be		\$24,818.00		\$18,274.00			
	Delivery:			7-10 Business Days			7 Days		
	Annual Price Adjustment:			0%			5%		
		Notes:	N/A			N/A			

				Ritz Safety LLC	;	CPR S	Savers & First Aid	Supply	
ITEM	Description	Est. Annual QTY	Unit Cost	Extended Cost	Mfr & Model #	Unit Cost	Extended Cost	Mfr & Model #	
1	DEFIBRILLATOR, Golden Max 99512- 001434 or Acceptable Equivalent	17	\$1,911.54	\$32,496.18	8000-004007-01 - ZOLL AED Plus fully automatic Package	\$1,085.00	\$18,445.00	99512-001434	
2	AED Trainer, Golden Max 11250-000147 or Acceptable Equivalent	2	\$460.61	\$921.22	8008-000052-01 - ZOLL AED Plus Trainer2, fully automatic	\$775.00	\$1,550.00	11250-000147	
3	Shipping	1	\$325.00	\$325.00		\$0.00	\$0.00		
	TO EXCEED: (All costs nid will be disqualified)	nust be	\$33,742.40			\$19,995.00			
		Delivery:		30 Business Days	3				
	Annual Price Adjustment:			0%			0%		
		Notes:		N/A			N/A		